# **CITY OF EL PASO, TEXAS AGENDA ITEM** DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE:

April 11, 2023

PUBLIC HEARING DATE: NA

**CONTACT PERSON(S) NAME AND PHONE NUMBER:** 

Jonathan P. Killings, Fire Chief, (915) 493-5609

K. Nicole Cote, Managing Director, Purchasing and Strategic Sourcing, (915) 212-

**DISTRICT(S) AFFECTED:** 

All

STRATEGIC GOAL:

2 - Set the Standard for a Safe and Secure City

SUBGOAL:

2.3 - Increase public safety operational efficiency

#### SUBJECT:

The award of solicitation 2023-0180 OEM Alternators, Starters and Related Parts to The McAdams Group, LLC dba Texas Alternator Service, for a three (3) year term for an initial estimated amount of \$107,178.00. The award also includes a two (2) year option for an estimated amount of \$71,452.00. The total amount of the contract is, including the initial term plus the option for a total of five (5) years, for an estimated amount of \$178,630.00.

#### **BACKGROUND / DISCUSSION:**

This contract will provide Replacement Alternators, Starters and Related Parts to the Fire Department.

# **SELECTION SUMMARY:**

Solicitation was advertised on December 13, 2022 and December 20, 2022. The solicitation was posted on City website on December 13, 2022. There were a total of fourteen (14) viewers online; three (3) bids were received; none being local.

### **CONTRACT VARIANCE:**

The difference based in comparison to the previous contract is as follows: A decrease of \$1,367.40 for the initial term, which represents a 1.26% decrease due to improved pricing.

#### **PROTEST**

No protest received for this requirement.

#### PRIOR COUNCIL ACTION:

NA

#### **AMOUNT AND SOURCE OF FUNDING:**

Amount: \$107,178.00

Funding Source: 531180 - 322 - 1000 - 22090 - P2216

Account: General Funds

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? X YES NO

PRIMARY DEPARTMENT: Fire SECONDARY DEPARTMENT: Purchasing & Strategic Sourcing								
****	**************************************							
DEPARTMENT HEAD:	All I							
-	Fire Chief Jonathan P. Killings, El Paso Fire Department							

# COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the **CONSENT** agenda for the Council Meeting of **April 11, 2023.** 

# Strategic Goal 2 - Set the Standard for a Safe and Secure City

The linkage to the strategic plan is subsection 2.3 – Increase public safety operational efficiency

# **Award Summary:**

The award of solicitation 2023-0180 OEM Alternators, Starters and Related Parts to The McAdams Group, LLC. dba Texas Alternator Service, for a term of three (3) years for an estimated amount of \$107,178.00. The award also includes a two (2) year option for an estimated amount of \$71,452.00. The total amount of the contract is, including the initial term plus the option for a total of five (five) years, for an estimated amount of \$178,630.00. This contract will provide Replacement Alternators, Starters and Related Parts to the Fire Department.

# **Contract Variance:**

The difference based in comparison to the previous contract is as follows: A decrease of \$1,367.40 for the initial term, which represents a 1.26% decrease due to improved pricing.

Department: Fire

Vendor: The McAdams Group, LLC. dba Texas Alternator Service

Austin, TX

Initial Term: 3 years

Annual Estimated Award: \$35,726.00 (1 year)
Initial Estimated Award: \$107,178.00 (3 years)
Total Estimated Award: \$178,630.00 (5 years)

Account No.: 531180 – 322 – 1000 – 22090 – P2216

Funding Source: General Fund

District(s):

This is a Low-Bid, unit priced contract.

The Purchasing & Strategic Sourcing and Fire Departments recommend award as indicated to The McAdams Group, LLC. dba Texas Alternator Service, the lowest responsive and responsible bidder.

In accordance with this award, the City Manager or designee is authorized to exercise future options if needed.



# CITY OF EL PASO BID TABULATION



	TLE: OEM ALTERNATORS, STARTERS A	AND RELATED F	PARTS											DEPARTMENT	BID NO: 2023-018	
BID DATE: JANUARY 25, 2023				Ted Turner dba CC Battery Co. Inc. Corpus Christi, TX Bidder 1 of 3				Romaine Electric Corporation Kent, WA Bidder 2 of 3				DEPARTMENT: FIRE DEPARTMENT The McAdams Group LLC dba Texas Alternator Service Austin, TX Bidder 3 of 3				
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	MINIMUM APPROXIMATE QUANTITIES	MAXIMUM APPROXIMATE QUANTITES	PRICI		YEARLY TOTAL C = AXB	3 YEAR TOTAL D = CX3	PRICE		YEARLY TOTAL C = AXB	3 YEAR TOTAL D = CX3	PRICE	YEARLY TOTAL C = AXB	3 YEAR TOTAL D = CX3	
				(A)	(B)		(C)	(D)	(B)		(C)	(D)	(B)	(C)	(D)	
1	Leece-Neville Alternator 14V 270 AMPS PART # A0014993PA	Each	2	3	s	927.21	\$ 2,781.63	\$ 8,344.89	\$ 8	371.85	\$ 2,615.55	\$ 7,846.65	\$ 848.00	\$ 2,544.00	\$ 7,632.0	
2	Leece-Neville Alternator 14V 320 AMPS PART # A0014962PA	Each	2	3	\$	1,318.28	\$ 3,954.84	\$ 11,864.52	2 \$ 1,0	99.95	\$ 3,299.85	\$ 9,899.55	\$ 1,265.00	\$ 3,795.00	\$ 11,385.0	
3	Alternator 14V 350 AMPS Part #C634	Each	1	3	\$	2,044.92	\$ 6,134.76	\$ 18,404.28	3 \$ 2,5	337.40	\$ 7,012.20	\$ 21,036.60	\$ 1,940.00	\$ 5,820.00	\$ 17,460.0	
4	Alternator 14V 400 AMPS Part #C714	Each	1	2	\$	2,228.31	\$ 4,456.62	\$ 13,369.86	\$ 2,5	534.79	\$ 5,069.58	\$ 15,208.74	\$ 2,320.00	\$ 4,640.00	\$ 13,920.0	
5	Alternator 14V 400 AMPS Part #C716	Each	1	2	\$	2,364.60	\$ 4,729.20	\$ 14,187.60	\$ 2,6	88.88	\$ 5,377.76	\$ 16,133.28	\$ 2,440.00	\$ 4,880.00	\$ 14,640.0	
6	Alternator 14V 430 AMPS Part #C680	Each	1	2	\$	2,521.01	\$ 5,042.02	\$ 15,126.06	\$ 2,8	383.14	\$ 5,766.28	\$ 17,298.84	\$ 2,445.00	\$ 4,890.00	\$ 14,670.0	
7	Voltage Regulator For C680 And C714 PART # A2-155	Each	1	2	\$	329.28	\$ 658.56	\$ 1,975.68	3 \$ :	357.27	\$ 714.54	\$ 2,143.62	\$ 351.00	\$ 702.00	\$ 2,106.0	
8	Delco Remy Starter 12V 11T Part #39MT / 8200308	Each	6	8	\$	425.00	\$ 3,400.00	\$ 10,200.00	\$	557.39	\$ 4,459.12	\$ 13,377.36	\$ 445.00	\$ 3,560.00	\$ 10,680.0	
9	Delco Remy Starter 12V 12T Part #MT39 / 8200433	Each	6	8	\$	453.72	\$ 3,629.76	\$ 10,889.28	s s :	368.82	\$ 2,950.56	\$ 8,851.68	\$ \$ 445.00	\$ 3,560.00	\$ 10,680.0	
10	Delco Remy Starter 12V 12T Part #MT39 / 8200434	Each	2	3	\$	453.72	\$ 1,361.16	\$ 4,083.48	s s	368.82	\$ 1,106.46	\$ 3,319.38	\$ 445.00	\$ 1,335.00	\$ 4,005.0	
				TOTAL			\$ 36,148.55	\$ 108,445.65			\$ 38,371.90	\$ 115,115.70		\$ 35,726.00	\$ 107,178.00	
OPTION TO EXTEND THE TERM OF THE  AGREEMENT  THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTEOD OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND.  BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:																
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR						х							Х			
NO OPTION OFFERED							х									
AMENDMENTS ACKNOWLEDGED:					Yes				Yes				Yes			
BIDS SOLICITED: 144 LOCAL BIDS SOLICITED: 69 BIDS REC					RECEIVED:	RECEIVED: 3 LOCAL BIDS RECEIVED				ED: 0 NO BID: 3						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

2023-0180 OEM Alternators, Starters, and Related Parts

# 2023-0180 OEM Alternators, Starters and Related Parts View List

	Participant_Name	Response Dat	Response Status	City	<u>State</u>
1	C. C. Battery Co.	01/25/2023	Submitted	Corpus Ch	TX
2	Arnold Machine, Inc.	01/24/2023	No Bid	Tiffin	OH
3	Texas Alternator Starter Service (The McAdams Group, LLC)	01/23/2023	Submitted	Austin	TX
4	Romaine Electric Corporation	01/19/2023	Submitted	Kent	WA
5	Bill Williams Tire Center	01/19/2023	No Bid	Midland	TX
6	Muncie Transit Supply (Muncie Reclamation and Supply)	01/17/2023	No Bid	Muncie	IN
7	Casa Ford		Viewed	el paso	TX
8	CED El Paso		Viewed	El Paso	TX
9	Construction Reporter		Viewed	Albuquerq	. NM
10	Fuels LLC		Viewed	Anthony	TX
11	Spark Multinational, LLC		Viewed	El Paso	TX
12	TIMA UTV SOURCE		Viewed	El Paso	TX
13	TruckPro, LLC (TruckPro Holding Corporation)		Viewed	Cordova	TN
14	WOFFORD TRUCK PARTS (TE EL PASO,LLC)		Viewed	EL PASO	TX